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¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½    

General Instructions  

1 ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA   

 Candidates are required to give their answers in their own words as far as 

practicable.  

2 bl iz’ui= esa pkj bdkbZ gSa ,oa lHkh bdkbZ ds lHkh iz’uksa dk mÙkj nsuk 
vfuok;Z gSA  
The question paper consists of four units and all questions in all units are 

compulsory.   

 i) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    I        Unit – I ¼bfrgkl History½       & 20 vad  
 ii) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    II       Unit – II ¼Hkwxksy Geograpy½      & 20 vad 

iii) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    III    Unit – III ¼ukxfjd 'kkL= Civics½  & 20 vad 
iv) bdkbZ &bdkbZ &bdkbZ &bdkbZ &    IV    Unit – IV ¼vFkZ’kkL= Economics½   & 20 vad 

3 izR;sd iz’u ds vad mlds lkeus vafdr gSaA  

 The figures in the margin indicate full marks of the question.   

4 iz'uksa ds mÙkj iz’uksa ds lkFk fn;s x, funsZ’k ds vkyksd esa gh nsaA   

 Answer of the question must be in the context of the instructions given therein.  

5 tgk¡ dgha Hkh vko’;d gksa] LoPN vkjs[k [khafp,A  

 Draw neat and clean diagrams wherever necessary.  

6 iz'u&lg&mÙkj iqfLrdk esa gh js[kk ekufp= fn, gq, gSaA   

 The outline maps are given in the question-cum-Answer Booklet itself.   

bdkbZ&bdkbZ&bdkbZ&bdkbZ& I    ¼¼¼¼bfrgklbfrgklbfrgklbfrgkl½½½½                             

Unit – I (History) 

      
1- dkmaV dSfeyks ns dkowj dkSu Fkk\ Who was Count Camillo de Cavour ?         1 

 vFkokvFkokvFkokvFkok  

 dksyksu ls vki D;k le>rs gSa\ What do you understand by colons ?           

2- 1815 dh fo;uk laf/k ds D;k mís’; Fks\  
What were the objects of Treaty Vienna of 1815 ?      
 

1 

3- Ýkalhfl;ksa us esdk¡x MsYVk {ks= esa ugjsa cukuk vkSj tehuksa dks lq[kkuk  
'kq: D;ksa fd;k\  
Why the French began building canals and draining lands in the Mekong delta?      

3 

 vFkokvFkokvFkokvFkok  

 th&77 ns’kksa ls vki D;k le>rs gSa\ 
What do you understand from G-77 countries ?  

 

 

dqy iz’uksa dh la[;k&27 
Total No. of Questions  =27 

iw.kkZad %  80  
Full Marks : 80 



 
   

4- igys fo’o;q) ds le; Hkkjr dk vkS|ksfxd mRiknu D;ksa c<+k\ 
Why did industrial production in India increase during the First world war ?       

3 

 vFkokvFkokvFkokvFkok  

 mUuhloha lnh esa /kuh yanu okfl;ksa us xjhcksa ds fy, edku cukus dh 
t:jr dk leFkZu D;ksa fd;k\ 
Why well-off Londoners supported the need to build houses for the poor in the 

nineteenth century.  
          

 

5- nkaMh ;k=k ls vki D;k le>rs gSa\ o.kZu djsaA  
What do you understand by Dandhi Yatra ? Explain.  
  

 

6- vBkjgoha lnh ds ;wjksi esa dqN yksxksa dks D;ksa ,slk yxrk Fkk fd eqnz.k 
laLd`fr ls fujadq’kokn dk var vkSj Kkuksn; gksxk\ 
Why did some people in eighteenth century Europe think that print culture would 

bring enlightenment and end despotism ?    

 

 vFkokvFkokvFkokvFkok  

 mUuhloha lnh ds fczVsu esa vk, ,sls dqN lkekftd cnykoksa dh ppkZ 
djsa ftuds ckjs esa VkWel gkMhZ vkSj pkYlZ fMdsUl us fy[kk gSA  
Discuss some of the social changes in nineteenth-century Britain which Thomas 

Hardy and Charlles Dickens wrote about.  
          

 

7- fn;s x;s fo’o ds js[kk ekufp= esa fuEufyf[kr LFkkuksa dks n’kkZb,% 

¼iznÙk ekufp= dk iz;ksx djsa½A 

    ¼d½ dksydkrk 

    ¼[k½ vkWLVªsfy;k 

In the given outline map of world mark the following places : (Use the given map). 

(a) Kolkata 
(b) Australia  

 

 



 

 bdkbZ&bdkbZ&bdkbZ&bdkbZ& II    ¼Hkwxksy½¼Hkwxksy½¼Hkwxksy½¼Hkwxksy½ 
Unit – II (Geography) 

lgh fodYi pqulgh fodYi pqulgh fodYi pqulgh fodYi pqus s s s choose the correct option 

 

8- ljdkj fuEufyf[kr esa ls dkSu lh ?kks"k.kk Qlyksa dks lgk;rk nsus ds 

fy, djrh gS\ 

Which one of the following is announced by the government in support of crop ?   

1 

 (a) vf/kdre lgk;rk ewY; Maximum  support price 

(b) U;wure lgk;rk ewY; Minimum support price.     

(c) e/;e lgk;rk ewY; Moderate support price 

(d) izHkkoh lgk;rk ewY; Influential support price   

 

9- iwohZ rV ds unh MsYVkvksa esa fdl izdkj dh e`nk ikbZ tkrh gS\ 

What type of soil is found in the river delta of the eastern coast ?  
 

1 

10- gesa [kfutksa dh laj{k.k dh D;ksa vko’;drk gS\ 

Why do we need to conserve mineral resources ?    

3 

 vFkokvFkokvFkokvFkok     

 lM+d ifjogu ds rhu xq.k crk,¡A State any three merits of roadways.      

11- ijaijkxr o"kkZ ty laxzg.k dh i)fr;ksa dks vk/kqfud dky esa viuk 
dj ty laj{k.k ,oa HkaMkj.k fdl izdkj fd;k tk jgk gSA  
Describe how modern adaptation of traditional rain water harvesting methods are 

being carried out to conserve and store water.   

5 

 vFkokvFkokvFkokvFkok     

 fiNys ianzg o"kksaZ esa vUrjkZ"Vªh; O;kikj dh cnyrh izo`fÙk ij ,d ys[k 

fy[ksaA  

Highlight the trend of the international trade in the last fifteen years.   

 

12- Ck¡k/k D;k gS\ ck¡/k fdrus izdkj ds gksrs gSa\ 
What is a dam ? What are the types of dams ?   

5 

 vFkokvFkokvFkokvFkok     

 Hkkjr ds Hkwfe mi;ksx izk:i dk o.kZu djsaA o"kZ 1960 ls ou ds 

vUrxZr {ks= esa egRoiw.kZ o`f) ugha gqbZ] bldk D;k dkj.k gS\ 

Describe the land use format of India. State the reasons for the non increasing forest 

areas since 1960.    

 

13- 

 

fn;s x;s Hkkjr ds js[kk ekufp= ij fuEufyf[kr dks n’kkZb,A  

 

1+1 

= 2 



 

¼d½ 
 

(i) twV mRiknd {ks= 

(ii) mÙkj nf{k.k xfy;kjk 

 Show the following in the given outline map of India.  

(i) Jute producing area  

(ii) North – South corridor  

 

 

 

¼[k½ fn;s x;s Hkkjr ds js[kk ekufp= dk /;kuiwoZd v/;;u dhft, vkSj 
¼d½] ¼[k½ rFkk ¼x½ }kjk iznf’kZr txgksa dks igpku dj ukekafdr 
dhft,A  

1+1 

+1= 

3 

 Study the given outline map of India carefully and locate the places which are 

indicated by (a), (b) and (c). 

 

 

 



 
 bdkbZ&bdkbZ&bdkbZ&bdkbZ& III    ¼ukxfjd’kkL=¼ukxfjd’kkL=¼ukxfjd’kkL=¼ukxfjd’kkL=½½½½ 

Unit – III (Civics) 

 

14- dks"Bd esa ls lgh 'kCn dks pqudj fjDr LFkku dks Hkfj, % 
  --------------------- dh eq[; ftEesokjh x`gLFkh pykus vkSj cPpksa dk 
ikyu&iks"k.k djus dh gSA    
              ¼vkSjrksa] iq:"kksa½ 

1 

 Fill in the blank with correct word given in brackets :  

  The main responsibility of ………………. are house hold work and bringing up of 

children. 

                           (Women, Men) 
 

 

15- dks"Bd esa ls lgh 'kCn dks pqudj fjDr LFkku dks Hkfj, %  
   xk¡/khth dk /keZ ls eryc fgUnw ;k bLyke tSls /keZ ls u gksdj -
---------------- ls Fkk] tks lHkh /keksaZ ls tqM+s  gSaA  
          ¼lkekftd ewY;ksa] uSfrd ewY;ksa½ 

1 

 Fill in the blank with correct word given in bracket:  

By religion, Gandhi Ji did not mean any particular religion like Hinduism or Islam, 

rather he meant by it, the ‘………..’ that relate to all religions.   

                        (Social values, moral values)  
 

 

16- ^^lkekftd foHkktu vf/kdka’kr% tUe ij vk/kkfjr gksrk gS”A O;k[;k 
djsaA    

3 

 “Social differences are mostly based on birth.” Explain. .    

17- crkb, fd fdl rjg Hkkjr esa vHkh Hkh tkfrxr vlekurk,¡ gSA  
State how caste inequalities still exist in India.  

5 

 vFkokvFkokvFkokvFkok     

 dsUnz&jkT; laca/k ij izdk’k Mkfy,A  
Throw light on the Centre-State relationship.  
 

 

18- ^^ncko&lewg lekt ds fdlh [kkl rcds dh fgrksa ,oa n`f"Vdks.kksa dks 
laxfBr vfHkO;fDr gksrs gS”A foospuk djsaA  
“Pressure groups are the organised expression of the interests and views of specific 

social sections.” Explain.    

5 

 vFkokvFkokvFkokvFkok     

 jktuhfrd ny viuk dke dkt csgrj <ax ls djsa] blds fy, mUgsa 
etcwr cukus ds dqN lq>ko nsaA  
Suggest some reforms to strengthen political parties, so that they can perform their 

functions well.  
 

 

19- ^^yksdra= esa lHkh dks ,d gh oksV dk vf/kdkj gSA bldk eryc gS fd 
yksdra= esa fdlh rjg dk izHkqRo vkSj Vdjko ugha gksrkA” bl dFku ds 
i{k esa nks rdZ nsaA  
“In Democracy, all the citizens enjoy the right of single vote. This means that no 

possibility of dominance or conflict exists.” Give two arguments supporting this 

statement.  

 

 

5 



    
 vFkokvFkokvFkokvFkok     

 yksdra= dh lQyrk dh fdUgha ik¡p vko’;d 'krksaZ dk o.kZu djsaA  
Describe any five necessary conditions of successful democracy.  

 

     
bdkbZ&bdkbZ&bdkbZ&bdkbZ& IV    ¼vFkZ’kkL=¼vFkZ’kkL=¼vFkZ’kkL=¼vFkZ’kkL=½½½½ 
Unit – IV (Economics) 

 

20- /kkj.kh;rk dk fo"k; fodkl ds fy, D;ksa egRoiw.kZ gSa\  
Why is the issue of sustainability important for development ?  
 

1 

21- i;kZoj.k esa fxjkoV ds dqN ,sls mnkgj.k dh lwph cukb, tks vius 
vklikl ns[ks gksaA  
List few examples of environmental degradation that you might have observed 

around you.  
  

1 

22- psd D;k gS\ What is a ‘Cheque’ ?  
  

1 

23- vukSipkfjd _.k D;k gS\ What are informal sector Loans ?  
  

1 

24- laxfBr vkSj vlaxfBr {ks=dksa esa fo|eku jkstxkj ifjfLFkfr;ksa dh rqyuk 
djsaA  
Compare the employment condition prevailing in the organised and unorganised 

Sectors.  
 

3 

25- miHkksDrk viuh ,dtqVrk dk izn’kZu dSls dj ldrs gSa\ 
How can consumers demonstrate their solidarity.  
  

3 

26- fodkl esa _.k dh Hkwfedk dk fo’ys"k.k dhft,A  
Analyse the role of credit in development.  
 

5 

27- fons'k O;kikj fofHkUu ns’kksa ds cktkjksa ds ,dhdj.k esa fdl izdkj enn 
djrk gS\ ;gk¡ fn, x, mnkgj.k ls fHkUu mnkgj.k lfgr O;k[;k 
dhft,A  
How does foreign trade lead to integration of markets across countries? Explain 

with an example other than those given here.     

5 

 vFkokvFkokvFkokvFkok     

 nwljs ns’kksa esa cgqjk"Vªh; daifu;k¡ fdl izdkj mRiknu ;k mRiknu ij 
fu;=a.k LFkkfir djrh gS\ 
What are the Various ways in which MNCs set up, or Control production in other 

Countries ?    

 

 


